Exercices Theéorie 9 - Les réactions chimiques

Balancement d’équation
1. Equilibre chacune des équations suivantes

A) _3 caOH): + 2 HpOs ~ _b M0+ Cas(POu)s
B CHu+_ & 0.~ _§ co,+ b H0

?
Q) L C2HsOH + 02 = COZ': é I'"I}O

D) AlO )3+ 3 Cl p _A|C|3+__3_H.2’O‘+

E) _R_KgPOu+ g Ca(NOg)s) ~ _é_KN03+___Czii(P04_)_z'
F) ___ CHa +_2Z 0, = ___ CO+_2. H,0

G) ___ CaCl+__ NaCOs - __ CaCOs+_2 NaCl
H) _:);_HN03+ SO, H2SO0s+__ 2 NO;

) 2 kaolE +_z__f<?u+ z2--d; ¢+ ¥ %6

J) ____ HSOs+_Z NaOH — __ 2. H0+___ NaySOa
K)_'Z=C2Hz+__i02—’ 4 C02+ Z_\bH/zp

) 42 NH3+S %0, j_z,_\) 6% _H,0,

M) _4 NHs+_F o _QLNOH é’Jﬁe -\
N)__ 3 cao+ 2 A - Alz()3+_3__Ca
O)_FeC£+$_NH4OH = ___Fe(OH)s+__ 3  NH4CI
P) _3 Clo » __ Clos+__Ch

Q) —-—Ca(OHMNO3 =¥ Ca(NOa)_szHzO

R) _Z KCIOs = Z Kcl+.3 0,
S) _ A NOz+_% fy — ﬁ‘_NHgf&Hzo

T) 3 NHs+ i’cb & e 2

U) _‘_&Mn04+_|__\;%2/(')4+j§H2 = 1 &Mn+TKCOz +H$H20
L H2504 +_ Na;SO3 = _ 1 N82$O4 + HzO +_ 1S0;
W)__2, NaHCO; — __ NaxCOs+_COz+__H;0

X) l CHsa+_1Clh = _ CH3C| +__\ HCI

Y) [ Mg+ _ | HSOs — _\ MgSOs+__\ H»

2) MnO,+ 4} HCl = __ MnCh+ <= H0+ _ Cl

Uf) Mn: A=0 Hi 2Bt = C: 28=F

= ; Bt ¢ = F
HAa+ 48 = AELF ' ) B
Oi‘qn  4p = (BB E — *¥// S w-B=A
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